
Exercice : 2-5*
(identifiant : integsimples-a-2-5)

2-5* () – énoncé

Soit la fonction f : x 7→ x3 + 3x2 − x− 1

x + 1
définie sur R \ {−1}.

1. Déterminer les réels a, b, c et d tels que f(x) = ax2 + bx + c +
d

x + 1
.

2. Calculer

∫ −2

−3

f(x) dx.

2-5* () – correction

f(x) = x3+3x2−x−1
x+1 = ax2 + bx + c +

d

x + 1
pour a = 1, b = 2, c = −3, et d = 2.

Alors f(x) = x2 + 2x− 3 +
2

x + 1
.

−2∫
−3

f(x)dx =
−2∫
−3

x2dx +
−2∫
−3

2xdx−
−2∫
−3

3dx +
−2∫
−3

2dx
x+1 = 1

3

[
x3
]−2

−3
+
[
x2
]−2

−3
− [3x]

−2
−3 + 2 [ln |x + 1|]−2

−3 + k

= − 5
3 − 2 ln 2, k étant une constante.
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